@ quattro decimali, ordine delle operazioni
P T * x % 0600 * x ¥

Nome: Data: Punteggio: __
5,6 -6,4—4,4x6,3= 2,9-18%x4,4+6=

3,8—-2,4x3,7+3,8= 6,2-10x6,7+2 =

6,3+3,5-5,9x4,5= 3,8 -15%x3,6+3 =

6—-6,1+4,8x2= 6,5+5,2+4,1x5,8=

2,6 -3x3,4+5,3= 4,8—4x6,7—-5,1=
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@ quattro decimali, ordine delle operazioni
P T * x % 0600 * x ¥

Nome: Data: Punteggio: __
5,6 -6,4—4,4x6,3=-2852 2,9-18%x4,4+-6=-103
3,8—-2,4x3,7+3,8=—-1.28 6,2-10x6,7+2=-273
6,3+3,5—-5,9%x4,5=-16.75 3,8 -15x3,6+-3=-142
6-6,1+4,8x2=905 6,5+5,2+4,1x5,8=3548
2,6 -3x3,4+53=-23 4,8—4x6,7—-5,1=-27.1
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